
W194076

3.0ACS

HBS0003-012

HWS0003-375
HNS0001-375

HWS0001-375

ITEM NO. PART NUMBER DESCRIPTION QTY.
1 W194076 MUFFLER ASSEMBLY 1
2 3.0ACS CLAMP, 3.0", BAND, STAINLESS STEEL 1
3 HBS0003-012 BOLT, HEX, 3/8-16 X 1 1/2", GR5, ZN 2
4 HWS0001-375 WASHER, FLAT, 3/8", ZN 4
5 HWS0003-375 WASHER, LOCKING, 3/8, ZN 2
6 HNS0001-375 NUT HEX 3/8" GR5 ZN 2

S5143409
2019-UP DODGE RAM 1500, 5.7 HEMI, 3" SINGLE IN/OUT MUFFLER 
REPLACEMENT

18-Nov-19
REV:A


	S5143409
	Drawing View12


